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Winmeen - Group 4 VAO General Studies Model Test 8

1) Gurflumflesr QUMP&H6m&E Hl&peygemern
snevauflensuiley euflensliL(Rs5)5.
1) Q6.0 6y&@ Quflwmy UL LD auprasLliL(h&ev
2) mQeuLnm s Osmandlwnelles Fnésresn
UL LD 6uipraisLiL (h&6v
3) m.Qeupm seEmsEHenL  eETUY  GUIPTLLLD
AF: T HAE YN
4) Q6w SWLFWmens @usHESD QST hIGSH60
A. 3,412
B. 4,321
C. 2341
D. 1,4,32
Arrange the following life events of Periyar in
chronological order.
1) E.V.R was given title ‘ Periyar
2) E.V.R was given title ' Socrates of South Asia
3) Starting of Anti-Liquor campaign by E.V.R
4) Starting of Self-Respect movement by E.V.R
A 3,412
B. 4,321
C. 2,341
D. 1,4,3 2

2) openni usall GMSs £CG Qan@ssuuL(eten
gammiseflev Heumnen samenm CoiHOSH.

A. BWN&ES Semevell SeoTgl AHSMSSHlesT QLTmeL
@eueniy [Hlwiestd QWS M.

B. @eurj wsHW ydlett 2emluiry

C. @au waHEHW SixEme HIWLSISSLILILLeUTTEUT.

Learning Leads To Ruling

D. @aumsE SifFlwevendll SiigliLienLuileomest
S6oflLILILL 16vI6U6V&LD 2 6iTeng).

Which among the following is not true regarding
the office of the Governor?

A. He is appointed by President by warrant under
his hand and seal

B. He is an employee of central Government

C. He is a nominee of central Government

D. He occupies an independent constitutional

office
3) @ndHwnelles LplLWNE QUM 6TET
SINENMEISLD SiflsuupssUuiBD 6T6bTLIEMS,

(pseoTIpSeNns QeuefluiliL Sinfl&ens/ LD 615)?
A @bgHw sines gL 1935
B. @b&Hw westmrhigeT F L1 1909
C. Qeueitemen SiMfl&ems
D. op&6vl Sifl&ens
Which of the following provides ‘The introduction
of responsible Government in India’ for first time?
A. The Government of India Act 1935
B. The Indian council Act 1909
C. The White Paper
D. The August Declaration
4) 1875 v UNinEhNesT Fevill 61651 SieBIDLIEHLI
Himieflweury wimy?

1) WemmeuL_ervgl

2) ojetTenfl GLIF6sTL

3) Qametn]l opevaM
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1) BGasn
A. 2 (B

B. 1&3 w (pw
C. SiemerisgId
D. 2& 4wl (Hid

Who among the following founders of the
Theosophical Society in 1875?

1) Blavatsky

2) Annie Besant

3) Henry Olcott

4) Nivedita

A. 2only

B. 1& 3 only

C. All

D. 2& 4 only

5) yefl S LD SyTDLIGSEILLL Sp6501(H 61817
A. 1970

B. 1972

C. 1973

D. 1976

The Project Tiger was initiatedin _____.

A. 1970

B. 1972

C. 1973

D. 1976

6) Betgerflett Hliel] OAHMSENS GevvHouS)] 61517
A. GauHluGun(meiTEeT

B. sfjeiss

C. Geauliublemsv

D. oieneuisgIib

Mutation of Genes can be induced by _____.
Learning Leads To Ruling
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A. Chemicals
B. Radiation
C. Temperature

D. All

7) snevgems QunEpsg Qunpeflest  Geusid
s flssm60 (IPBSHSID eTedTUS| _____.

A. omong)

B. 618l @l

C. Gy G

D. &1l

When the velocity of the body increases with time,
the accelerationis _____.

A. Constant

B. Negative

C. Positive

D. Zero

8) sesflorsemer 2Geunsw, GeonHd  eT6vT
auenasLIL{BSSHweury wmy?

A. Geong iy Gowiy

B. GLnurfesty

C. BlwGevesor.

D. sveumiflwiiy

Who classified the elements in to metals and non-
metals?

A. Lothar Mayer

B. Doberiner

C. Newland

D. Lavoisier

9) @flwstt wHMID ComeaEHsSeMLGW 2 6item
riudlwey eflems e1g)?
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A. sopweilevd @ allens
B. svww Grn&E allens
C. smbsLl Lev efleng

D. lestanrbs efleng

The gravitational force between sun and planets

A. Centrifugal force
B. Centripetal force
C. Magnetic field force

D. Electro Magnetic force

10) sIBUSEsETs 6@ 6aTUSe HHESHNS
2 Geunsid 6157

A. @@moYy

B. smaury

C. &Qymslwibd

D. hléaeo

Which of the following metal is not used in steel
alloy?

A.Tron

B. Copper

C. Chromium

D. Nickel

11) S1ps sevsTLuDMIET (PHemsW Csug Smevid LHIIw
SHeuMest samm| 61517

A. Gunar UssESHlev HHSHSI

B. aflgeneussit om|oessid aulpsssSHlev Q(HHSHS!

C. QU6BETEET L (HLD 1601186061861 i6u5fIrb S 60T

D. Questigssit Sipdlwellsv LiriE, G\amesoTL 6Ty

Learning Leads To Ruling
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Which of the following statement is not correct
regarding early vedic period.

A.Yoga was in practice

B. Widow remarriage was in practice

C. Only women wore ornaments

D. Women participated in politics

12) uestmon Bi&sHSE) cleng QemesoisSma)?

A LAUNS QuUEBEISLEY - Q&EHCaT eueneT(@LT

B. L&L08 QU(BRISLEY - S4fled QLI(HRISLEL

C. QuaHBCsT 6Uem6T(GLIT - L 60M688TIe8 CILI(THBISHLE6D
D. &L 6vmestripsd QLI(HAISLEL - LSS HeMSHEHL 60
Panama strait connects _____.
A. Pacific oceans — Gulf of Mexico

B. Pacific oceans — Artic ocean

C. Gulf of Mexico — Atlantic ocean
D. Atlantic ocean — Mediterranean sea

13) @ndHwneailest sLe Grems G&svevns MHEVLD
61517

A. RIS

B. nmggengmest

C. wessfliy

D. &iflygm

Through which of the following state, Tropic of
cancer do not pass?

A. Gujarat

B. Rajasthan

C. Manipur

D. Tripura

14) &1p&sevuTL QUMM 61T seallymegest 6TebT)|

SI60PS&SLILMBID (SIS STEFT wWimj?
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A s5EINELST
B. waevnid &hSHNGLST
C. g GUsST
D. @nesorLmid FHSHTGLUST
Which of the following Gupta kings called as Kavi
Raj?
A. Samudragupta
B. Chandraguptal
C. Kumara Gupta
D. Chandragupta Il
15) smuevaer eeoiugl 6HY LGSHulles iH&D
snesoL(REImg)?
A. siprLs soGleuerfl
B. 2118 Fwbeuer]
C. Qanraseset FoGleuer]

D. weouny swbeuefl

Kayals are mostly found in

A. Karnataka Plains
B. Gujarat Plains
C. Konkan Plains

D. Malabar Plains
16) #flwnest samenm CaiHOSEH.

1) eomeousgny gmevdlflenw 1964  smormey
Ulgswrnédlesty.

2) 1955 b opevot(h TMegmedl LNE f&estm efl(mHg)
@ummrm.
A. 1ol @b
B. 2 b (b

C.1&2

Learning Leads To Ruling
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D. e1g16)lb @6vemen

Choose the correct statement.

1) In 1964 Kamaraj made Lal Bahadur Shastri as
Prime Minister.

2) Rajaji received Bharat Rathna in 1955.

A. lonly

B. 2 only

C.1&2

D. None of the above

17) &G 2s6imeneumnflev 615 AWMLY QUTEHETTHY
LD6BITL6VLD {60607

A. AmGsifl

B. ogi6m1

C. 5hI6550\ 5 MessTLT6sT

D. Geugyrry

Which of the following is not a special economic
zone?

A. Siruseri

B. Madurai

C. Gangai kondan

D. Vellore

18) os&sbflwety Hevevemio  HHuSlemwuwlbd
GHWIES Seneval] S5l b5 eSSt S
Hlunslimg?

A. B8 oiflanmid

B. ijeuns =iglamyid

C. QBmH&sl HSSTLD

D. sl Lio6bT S\SMLd

Under which of the following powers, President of

India appoint Chief Justice of India?
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A.Legal Power

B. Executive Power
C. Emergency Power
D. Legislative Power

19) ' wveflgg 2ully Gsmenup ‘ eeTUENS

weotevCam inflaflss Spevo1(H 615,17
A. 1947
B. 1957
C. 1967
D. 1977

UNESCO's year of Man and Biosphere is
A. 1947

B. 1957
C. 1967
D. 1977

20) @dlevrs Gembdy eyifl pmMletT 6THS Hlemevuilev
snesoL(QEms)?

A. GuevHlemev

B. m(hblemev
C. Siprhlemev
D. sig161b @6vemev

Ox-Bow lake found in which stage of the river?
A. Upper stage

B. Middle stage

C. Lower stage

D. None

21) Slpemev BMUSSIflstT HEMELHET 61517
A. bgleny

B. figp&d

C. BEpamayy

Learning Leads To Ruling
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D. feto1([HE860
The capital of Thirumalai Nayak was

A. Madurai

B. Thiruchi

C. Thanjavir

D. Dindigul

22) &flures QunphE 26Tem  GemevsrewS
CaiBos (6.

A. LGBsLT A& — annmhsy

B. unmesor fleom — QEfagm

C. QarmIBsmenlL — G

D. Levbgij eunsm — eurfliomuy est

Choose the correctly matched pair.

A. Fatehpur sikri — Jahangir

B. Purana quila — Shershah

C. Red fort — Akbar

D. Buland Darwaza — Humayun

23) " pmmaset penewwniiGHCHmMDd “  eTeuviLl
QungpeTu@b BHI0 Gumemevst 61g)?

A. o Q&messTiey

B. Qewenimis g

C. peoLwni5s)

D. gmestmerfliiy

Which of the following writ mean ‘ We Command *
?

A. Habeas Corpus

B. Mandamus

C. Prohibition

D. Certiorari
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24) EpFeT BMUFFNIGHHNET  SHMYesil  WHMID
@sevmev LUNHESULHD 2 ML 6187

A. smauren, &6v6ST6v

B. emeurgen, sHevor

C. unéleflwim, &6v6Syev

D. unslerflwir, sesst

The cause of Yellow fever and affected part is

A.Virus, Liver
B. Virus, Eye
C. Bacteria, Liver

D. Bacteria, Eye

25)' Geug, umeipwid LSl etettm HreSlest SpAflwiy
wimiy?

A. eflwnsry

B. swnevisg &reveud)

C. aflGsusnesth I

D. ugwemnw&y

The author of ' Veda Bashya Bhumika ‘ was

A. Vyasar
B. Dayanand Saraswathi
C. Vivekanandhar

D. Paramahamsar
26) Uesteu(mid sammisefieo sflwnssens Coib0s 0.
1) sipflwevemioliL] MHifewstu Femu Sifllisiv @ eallest
S LSt S 1946 BeubLIflev SiemwSSLILILL ).
2) (5686 HFemIEnL W QNS 2 MILiLfestiseT 289.
A. 1ol @b
B. 2 b (b

C.1&2

Learning Leads To Ruling
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D. e1g16)lb @6vemen

Choose the correct statements.

1) The constituent Assembly was constituted in
November 1946 under Cripps Mission Plan.

2) Initially the total strength was to be 289.

A. lonly

B. 2 only

C.1&2

D. None

27) @nHwneilev 61b8 BHINEETIH S LsH6t1 Gz
BrE (peorCeomisugms et HM(GM QGesTULLg)?
A. eypedtTomeus) bsNessT(HS &L LD

B. gibgeug) @bsmessi( Sl b

C. eJlpneug) sob&esst(h Sl L LD

D. ugsneug| sbsTess(hs Sl LLb
India entered the “ take off “ stage during which
Five year plan?
A. 3rd Five year plan
B. 5th Five year plan

C. 7th Five year plan
D. 10th Five year plan

28) 54 Gzmgwid GCemmeny(® 100 wWlsvesl 681 LI
s Biflev Caisslu@dngl. uriy Qeeallens uflssr
SHCUTengW WHIY _____.

A. S5 féE1D

B. @somwib

C. brpr@s

D. &l

5g of sodium chloride is added to 100ml of pure

water. The surface tension was now
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A.Increases
B. Decreases
C. Remains constant

D. Zero

29) Ggmpnseflest eugeonmenm erRHW (PHLSW
augeonml A flwiy wmy?

A. 21857 6w

B. @svusest Guald

C. S160@ILI(mestl

D. &i46v unsevL

Which Mohammadian Historian wrote about
Cholas History?

A. Amir Khusro

B. Gulbadan Begqum

C. Alberuni

D. Abul Fazl

30) opemerOEIGZEID gD HNMLSOSWID LSS
LTeVWSHH M (S HeTOSHMTEMLILINES 6P 6oty Wij?
A. (psevrb LINMHS&65T

B. psevmbd regnmey Gempesst

C. (pgeomd Ty yest

D pseombd (&Ceonsgimigest

Who gave a village called Aanai Mangalam to
Buddhist Monastery as donation?

A.Paranthakal
B. Rajaraja Cholal

C.Rajendral
D. Kulothunga I

Learning Leads To Ruling
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31) Ulebreu(mp 61 FL LD SLesfluflest LGS SHenem
wast1 (wempwns Hflligey SLEHenSSHE 2 ULL
LEHuns Sifleflsss?

A umiGwenn FLLID 1773

B. I @bslw s Lib 1784

C.ulrweliLib 1833

D. @ndlw oip&& sl ib 1858

Which one of the following Acts described, the
company'’s territories in India were for the First
time called the British possession in India?

A. Reqgulating Act 1773

B. Pitt's India Act 1784

C. Charter Act 1833

D. Government of India Act 1858
32) @ Hw HL L& G (weunewiz)
I. 1950 6v SHevID&SHLILILL )

IL. 215 QM  QhHW  ATFwevenloliLImed
SIBISSHFSSLILLL 6(h 2-6TememLoLiL
III. (B 2EevmEenssT SHemLoLiL|

IV. @B Sipammg Qeonsn

A. Toomibd II

B. II obmyw III

C. I wmmi III

D. III b (H1b

The Planning Commission of India
I. was set up in 1950
II. Is a constitutional body
I1II. is an advisory body

IV.Is a government department
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A landIl
B.II and III
C.landIlI
D. Il only
33) seuldlyfls Sudlevionesig  SLpseUETLCUMHMI6IT
steumenm swflés LwestuBSmg)?
1) 2 praigeir
2) snw @evLiblemev QUM(BH6TEET
3) BlwLilssit HmIb Quuilesst(hesiT
4) Vet GFLILILIS H6VHIGETT
A 1&2
B. 2&3
C.1,3&4
D. 1,23&4
Sulphuric acid is used in the manufacture of
1) Fertilisers
2) Dyestuff intermediates
3) Pigmemts & Paints
4) Storage batteries
A 1&2
B. 2&3
C.1,3&4
D. 1,238&4
34) unesorgwj smevsHlev Lneyeufl Hlenevvrdsenid
sevuTsNesilS s SHlem 615)?
A. usnLHgI6mm
B. au(meum glemm
C. 2a1j 065TMS Sl6O)M

D. Bl&gi6om

Learning Leads To Ruling
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In Pandya Reign Department of Puravuvari
Thinaikalam governs

A. Army Department

B. Income Department

C. Panchayat Department

D. Justice Department

35) SpsseruILoubmIeT FaIHE O CUEMILILISS
giflwnest HisorenIuily 2.51d 6151?

A. eoyGamilwibd

B. =18ervmervLilifléveuld

C. =1Bervmevm

D. SNgmadwir

Identify the most suitable bio fertiliser for
casuarina cultivation?

A. Rhizobium

B. Azospirillum

C. Azolla

D. Frankia

36) QwevBLnevflemest &yliLg _____.

Ay ifl &)
B. semgymi(p syul
C. Uesflwev &Ll
D. il iflesteSleot

The melatonin is secreted by ____.
A. Pituitary gland

B. Thyroid gland

C. Pineal gland

D. Adrenalin

37 anneyFCGeomigesfls  LEpens  etevT
SienpssLULHeug) 61517
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A. femall@elieny LFLiwflwim
B. HlwGnmerv@umym

C. oypevLifedlevevery

D. osmflsen

Which of the following is called as Hallucinogenic
fungus?

A. Clavices purpurea

B. Neurospora

C. Aspergillus

D. Agaricus

38) @nHwnailev tipiy ellfisn s emailev
SuuugneE 2flu Fews QuTHeTNsy Siessila:eT
105 s6evvTLsumnfleév wimemeu?

1) sumemio

2) gal_(H&&(H'WwULD

3) B&FLOWILMNESH6V

4) Wneu(ha &L &)(HLo6sBTLD

A 1&2
B.1,2&3
C. 12&4
D.1,23&4
Which of the following socio-economic factors
tend to keep birth rate in India at a high level?
1) Poverty
2) Joint family system
3) Urbanization
4) Universality of marriage
A 1&2
B.1,2&3
C.12&4

D. 1,23&4
Learning Leads To Ruling
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39) pEHlensv Y BLSSIS Hspa] QLIDQUMID

D. wssnEGamerid

The phenomenon of intermediate inheritance is
observedin _____.
A. Lathyrus
B. Antirrhinum
C. Cucumber
D. Maize
40) #flwns QuBHH 2 6Tenens CaIHOS M.
1) @nmonenisgf — CgettesfibEH WM
2) engsetTj - &HSHIW @S
3) 6uELELLIMESTHWIT - (HRTME LHMILD LY LGS
4) nonesTh| - UL QbW
A 1,28&3
B. 2,3&4
C.1&4
D. 2&3
Choose the correctly matched pair.
1) Ramanuja — South India
2) Chaitanya — Central India
3) Vallabhacharya — Gujarat and Bhuj area
4) Ramanand — North India
A 1,283
B. 2,38&4

C.1&4
D. 2&3
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41) QgL QLLEsdaT upflu Ffluner Fabenm

CaiBos [
1) smhilest S1Has Ceussid
2) snm CuH &N ([HHg Hp&EasTs eiasso
3)  emomy LCymGumumenilh@ imElev Gloev
L@ymGumsivLilwifley efaflmg.
4) snm WGsrmsuLwifleb efaHlma.
What is true with regard to Jet Streams?
1. High velocity winds
2. Blow from west to east
3. Blow in upper troposphere near the
tropopause
4. Blow in the mesosphere
A. 2 and 3
B. 2 and 4
C.1 2 and 3
D. 1 2 and 4
42) Beo1  ueTENSHMEE — @wienevuilest
sTuLGSWlev Siemiorbgeiteng)?
A. 2 6T OUWIDEmEV
B. Géev Guowinemnev
C. b&EHW Gowioemsy
D. Qeueifl @uioemev

Doon valley is located in which part of the
Himalayan range?

A. The Great Himalayas

B. Upper Himalaya

C. Middle Himalaya

D. The Siwalik Himalaya

Learning Leads To Ruling
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43) 1997 b eupLL 2.Cs.GRIMNSE Unsw
wifluns ugell UJdnonesmd Q&g eass
(BYWIN&S &60I6V6UIT W7

A. Beold FEp&eu QL iy

B. smisj swmeT sjwom

C. Slwnestl Qigguilev i

D. G&.=4j. BFTULI6sDTET

Name the President who sworned LK.Gujral as

Prime Minister in 1997?

A. Neelam sanjeeva Reddy
B. Sankar Dayal Sharma
C. Ghiyani Jail Singh

D. K.R.Narayanan

44) @55 sipFlwevenioliy FLLS H(HSsW0 CLnsif,
GunmGLm, emwéefl, sMHFHTE GMISEH5E
s ieflsgiemens)?

A. 92 opaug) SiTFlwevenioliL] FLLE H(HSHSLD

B. 93 opeugy) SinflwevenioliL] &L LG H(HEHSLD

C. 94 opeugy) SpFlwevendlil FLLE S(HSHSHW

D. 95 opeugy) Sipdlwsvendli LS S(HSHSHW

Which Constitutional Amendment recognises the
languages Dongri, Bodo, Maithili and Santhali?
A.92nd Amendment Act

B. 93rd Amendment Act

C. 94th Amendment Act

D. 95th Amendment Act

45) @b Ew GaHw eu(HLONEDT HevvTsens:S SWMLILS)
wmj?
A. 58 opGwins
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B. svow euraig)
C. wsHw yeitefluflwev & pwid

D. wsglw IS gi1e0m
National Income estimation in India is prepared by

A. Niti Aayog

B. RBI

C. Central Statistical Organisation
D. Finance Ministry

46) S1p&6vuTL UMM 61T a5 (pS6vILD
@nnGxyiHlnesflest Himiiy QuUwT Si6v6v?

A. ueBEToEH G MipesT

B. &Ly Q& MessTLmest

C. siieng G\&MessTLMesT

D. Qguni&messtLmest

Which among the following was not the Nick
name of Ranjendra I?

A.Panditha cholan

B. Kadaram kondan

C. Gangai kondan

D. Jayam kondan

47) &G 26memumpiles FalLmlF  FedTenid
Beveunsg) 61517

A. @heorms Guuwliflento

B. miy(h5(& LMTMEHLO6STHLD

C. agbglnones BHsgienm

D. sTps L L SiFElwevemioLiL]

Which of the following is not a federal feature?
A. Single Citizenship

B. Bicameralism
Learning Leads To Ruling
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C. Independent Judiciary

D. Written Constitution

48) seumns QunphHweenens CaiHOS (-
wyssflwest Ge&WD - 2wy B&loetTmid

A. ug5Caf - SBPBI(H

B. LmoesT-L Wy, - LI LIl

C. @ibgnsst wHmIb HECHTUMT — H6085ST

D.eol&sSey -  SOBILST

Choose the wrongly matched pair.

Union Territory High Court
A. Puducherry - Tamilnadu
B. Daman-Diu - Bombay

C. Andaman & Nicobar - Calcutta

D.Lakshadweep - Karnataka
49) etevblGevTm 6T65TLIG)
A. @81 @mmeusfluilest euena
B. @51 QgL snihmserflest eusna
C. 88 @ sL6v Geuliu HByMLLD
D. @5 (5 sL6v @67 BGym LD
What is ‘El1 Nino' ?
A.Ttis atype of tornado
B.Itis a type of jet stream
C.Itis warm ocean current
D. It is cold ocean current
50) &1paevoTLOUMMIETT 6151/ 6Tema 2 6BBTERND?
1) wsHw oiLe Cremsll UGSHWld CLHEHEHW
SMHMISET eusnILIQUMHM)] SHTesoTIL(HID.
2) 2wy S1HsF&Es sl ConasdHw smmilest

Geausld 1S\ 5f&GSLD.
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3) QgL smHEmMLLINesg CohHesSw srhflenisT
USESICUDHDSTS 2 616G
4) GuhasHw srhHm CQeuliL sMHM) eTeTlILI(HEDS).
A 1&2
B.1,2&4
C. 2,3&4
D. oiemesidgid
Which of the following statements is/are true?
1) The westerlies are the most dominant wind
system in mid-latitude region
2) The speed of the westerlies increases with
altitude
3) Jet streams are embedded within westerlies
4) Westerlies are also known as Thermal winds
A 1&2
B. 1,2&4
C. 23&4
D. All
51) euewfls &858 misieilest SugliuenLufleo Sip
snay|b @HHW FHlemmasenen QmiE euflengulley
aflensliLuB5s)s.
1) @evevsgienm
2) Geu6NTessTEn LD
3) Qamflh&mensv
4) GuUNs @GNS
A. 3421
B. 4312

C. 1234
D. 2431

Learning Leads To Ruling
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Arrange the following sectors in India in
descending order according to the commercial
energy consumption?

1) Household sector

2) Agriculture

3) Industries

4) Transports

A. 3421

B. 4312

C. 1234

D. 2431

52) gflwnent samenm CaiBOSH.
1) wevellb 656 1940 w&bUF 22940 HIew6T
eflGzemev BeMTs HenIFfES).
2) sesfipul esHwnSgsd H&GLmuf 17, 1940
SH601M] QFHMLBISLILLLG).
A 1ol (o
B. 2L (hd
C. @usvor(hd
D. eigla|b @evemev
Choose the correct statement.
1) Deliverence day was observed on 22,December
1940 by Muslim league
2) Individual sathyagraha was launched on
17,0ctober 1940
A. lonly
B. 2 only

C.1&2
D. None

53) seumnent samenm CoiHOSH.
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A. evabhs BGLUSFeT @henms &6 geser Lgmflullev
2 66T

B. uhevrasnailev 2 sitem AL flwim epeflwiriger Siggmbem
seneoWlstt HNEED Q& TEBsTL6m6.

C. Busiseflstr semev HMID HLigl MBiGeT6d SMHSMTY
U seneowilest HM&sLD STewotlILIHEDS!.

D. &swsdnelusi el  elgwbrer  HhEs

IBesoTW IS eme QleustfluflLmj.

Choose the incorrect statement.

A. The remarkable Monolithic pillar of
skandagupta is at Bhitari

B. The paintings at sigiriya in srilanka were
influenced by the Ajanta style

C. Art and architecture of guptas had the influence
of Gandhara sculpture

D. Samudragupta issued eight types of Gold coins

54) Netteu(meuetTouemnm smev auflema LG5 5)s.
1) gmbuLiymesT F&& WM FeLD
2) setTesTIL & @IS &L
3) @eouiL G&FTHT
4) sameSlwietT eumevmLIME LI(H @& memev

A. 2143

B. 1324

C. 4321

D. 3214

Arrange following in chronological order.
1) Champaran Sathyagraha

2) Home Rule Movement

3) Ilbert Bill

4) Jallian Wallahbagh Massacre

Learning Leads To Ruling
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A. 2143

B. 1324

C. 4321

D. 3214
55) HlevsaetuientllQeuly SHEHoHE — SMYEsIOT6DT
AIMW&&6iT?

A. emamL 76T oHMILD Sp&&Fle6tT

B. @p&enfiggstt M| 1L 1g6Sl6dT

C. 1558568t LHMID STH)]

D. smjuetTt oL Sp&en&([H LHMID B&EEH6T

Which one of the following pairs of gases mainly
causes the explosion in land mines?

A. Hydrogen and oxygen

B. Oxygen and Acetylene

C. Methane and Air

D. Carbon dioxide and Methane
56) gflwnent samenm CaiBOSH.

1) @bdluneilsst @y Cpmfles ConE GhHwum
LGS s6rflanid

UGS seflepd  auLsHE — @bHlw

GubuLeaflsvemesv.

2) @npdHwurmeilesr UBGSS 2HusH LGS ST
B(mHg CFMblevanige auemiFd enLwaisvensv.
A. 1L @0
B. 2 L [{

C.1&2
D. eigla|b @evemev

Choose the correct statement.
1) Steel industries are not usually developed in

west and northern part of India.
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2) Steel industries are not usually developed in
cotton producing zones of India.

A. lonly

B. 2 only

C. Both

D. None

57) sflwnest samenm GBS0
1) opsiement(h suiflenguilev 14 sevfliomkigei 2 siterenT.
2) sonbsenesi(h euiflemaullev 19 GevflomissiT 2 6itermenT.
A 1wl @w
B. 2wl (hid
C.1&2
D. e1glab @evemsn

Choose the correct statement.

1) Actinide series has 14 elements.

2) Lanthanide series has 19 elements.
A. lonly

B. 2 only

C.1&2

D. None

58) @@ @uumsv wevifled SpevoTLFAWD WHMID
ensesffwd GQeusuGeaum snevsLLSSlev (PHFEH
SenLwb Hlspeailn (g erestest GLwn?

A. oL CanGail]

B. GaniGsnGsLs

C. QanLCrnGsLs

D. GunGsrrm@sLsl

In which of the following process Androecium and
Gynoecium mature at different times in a bisexual

flower?

Learning Leads To Ruling
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A.Dichogamy
B. Herkogamy
C. Heterogamy
D. Monogamy
59) siflwnesrens C5iHOSM.
1) Bu@pevellstt - afleng (peverLiLy
2) o456t - mievtl suenjEe
3) eva BLmem&eslletT - HevflgHev
A 1ol @b
B.1&2
C. 28&3
D. 3wl (pw
Choose the correct pair.
1) Gibberellin — Seed germination
2) Auxin — Apical growth
3) Cytokine — Ripening of fruits
A.lonly
B.1&2
C. 2&3
D. 3only
60) SwseTLaubnieT Hs g pTD C&TETDTL
Sevflow e1g)?
A. sigviiflesfluid
B. smevdwid
C. uGermflest
D. Qum_Lrélwib

Which of the following element has largest atomic
radius?
A. Aluminium

B. Calcium
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C. Fluorine
D. Potassium

61. AGMS ciou?

a. ABCD ascd b. BHNT bhnt
c. BHNT djpv d. bhnt DJPV
AGMS ciou?

a. ABCD ascd b. BHNT bhnt
c. BHNT djpv d.bhnt DJPV

62. If the length, breadth and height of a cuboid are
are 2m, 2m and 1 m respectively, then its surface
area is (in m?

a.8 b.12

c.16 d.24

215, 215 oMb 115 SpHleunenm (enmGu Her, Sis6v,

2WPBIGEMTES 26mLW &6l QFcucus:SHleot
Qeuefluunpiy (in m?)

a.8 b.12

c.16 d. 24

63. The ratio of the circumference of two circles is
2:3. What is the ratio of their areas?

a.2:3 b.4:9

c.3:2 d.9:4

B auLLisefletr &mmeneyserflest eflflsid 2:3 erevflev
3156t untiyseflest eflflgb wng)?

a.2:3 b.4:9

c.3:2 d.9:4

64. If the compound interest on a certain sum for 3
years at 10% per annum be Rs. 331, what would be
the simple interest?

a. 250 b. 231

c. 331 d. 300

Learning Leads To Ruling

Prepared By www.winmeen.com

apL Fal® eullp 10% erevfley, @ Czmens 3
aIBHLSSH6v QLB Fal B eullg em. 331 erevflev, b5

Qsmens, SI8% smeusHev QUEBL Hesfleuliy

eTeuaueney?

a. 250 b. 231

c. 331 d. 300

65. The G.C.D. of 1.08, .36 and 0.9 is
a.0.03 b.0.9

c. 0.18 d.0.108

1.08, 0.36, 0.9 opHw eweimm) stevorsserfledT WBLGILIH
@Qung) 6u(s eT6TTTETTTMETIG)|
a.0.03 b.0.9

c. 018 d.0.108

66. A cube has a total surface area of 384 cm?. Find

its volume.
a. 346 cm® b. 512 cm?®
c. 64 cm® d. 248 cm®

QUp sen& sZITSSleT Quonssl ymuugly 384

&.018.15 eT6ufl6v, DIHET HEVT 6TTEMEUS HITETDT.

a. 346 cm® b. 512 cm?
c. 64 cm? d. 248 cm?
] 1 1 1 1

67. Find the value of atatToet " Tom
. b.2

10 5
o L d =

20 10

1 1 1 1 . . .

2t atas T T axg 0 I Eetos.
. b.2

10 5
o L d =

20 10

68. Find the area of a parallelogram whose base
and height are 9cm and 5 cm respectively

a. 45 cm? b. 40 cm?
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c. 14 cm? d. 22.5cm?

Slgliussd 9 Q&S wHmib 2wnbd 5 QF.15 eesteaybd
2 0L W @emestisnSSlesT LITLILIEN6Y &M6voTs:.

1. 45 5.0&.15 <. 40 5.0&.15
8.14 .05 . 22.58.Q&L5

69. The ratio of the incircle and circumcircle of a

square is
a.1:2 b.2:3
c.3:4 d.4:5

QM FGINEHSHeT LESEIGmNS QFTLHE QFsvey|D
2 6imeul_L1b oMb (pemevtieiterfl euflGuig QFsveyid
QeuefleulLgHletr Liyseflesr aflHlgwn

a.l:2 b.2:3

c.3:4 d.4:5

70. The time duration of 1 hour 45 minutes is what
percentage of a day?

a.7.218% b. 7.291%

c.8.3% d. 8.24%

1 wewsfl 45 HudlLb etedgy) @H Hreflstt 6155 6meuvt

F56isID?
a.7.218% b. 7.291%
c.8.3% d. 8.24%

71. Two Tailors X and Y are paid a total of Rs.
550per week by their employer. If X is paid 120

percent of the sum paid to Y. Then how muchisY

paid per week?
a.Rs. 200 b. Rs. 250
c.Rs. 300 d. R. 350

X whpmiw Y et6otm Q@H 60FWeusriser CEijmbgl,

aungs&lev emumis 550 suemons QumSlestmeurr. Y-
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eor Fuenglev 120%g X susmons QUMM
eTevflev Y-65T 6(IH 6uUMy FIDLIGMLD 6T66u6TeY?

3. ;.20 . 05. 250
8. er5. 300

72. A, B and C starts at the same time in the same

/. ¢5.350

direction to run around a circular stadium. A
completes around a circular stadium. A completes
around in 252 seconds, B in 308 seconds and C in
198 seconds, all starting at the same point. After
what time will they meet again at the starting
point

a. 26 minutes 18 seconds

b. 45 minutes 0 seconds

c. 42 minutes 36 seconds

d. 46 minutes 12 seconds

ABC opflu epaumn @G Gursdled G
SHlengullev QU euLLIDMET eMWHNBTHMSEF SN
ehfleommesty. A pevteuj 252 eflesrmgsefleyiv B
pevteury 308 afleotmgsefigibd , C 198 eflesrmgserfleyid
QUH (PF FHenG (PLILNFHET 6lesfled jeufasmer
epau(bld Flouss QLESSEIID 6TTMNS 6uly eTeucueNey
G o450

31. 26 HIBILLD 18 eflevtmig

4. 45 FISILD 0 eflestmip

@. 42 ISl b 36 eflevTmiy

@. 46 BISIL1d 12 eflevTmiy

73. The Boolean function A+BC is the reduced form

of
a. AB+BC b. (A+B) (A+C)
c. AB+ABC d. (A+C)B
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A+BC 61 yeSlwesr &mjumesig) &(H&EGWEUNG
Uetteu(mUeussTOUDMI6TT 67517

a. AB+BC
c. AB+ABC

b. (A+B) (A+C)

d. (A+C)B

74. A and B can together finish a work in 30 days.
They worked for it for 20 days and then B left. If the
remaining work was done by A alone in 20 more
days, A alone can finish the total work in

a. 48 days b. 50 days

c.54 days d. 60 days

A vomw B Qevewthg ¢ F Geuemevemw 30
prlsefleo  Qauweuy. 20 BILSHET @HEuU(HD
QemevvtHg) Geusmev QFus flebry B
Gauemenwllefl(prbg  eflevdl  efllLmy. 55 psiten
Geuemevemrws A L {1 20 B &6 QFWGM] 6Tevflev
w2 Geusmevemrws A LD QFIG (Pi958 6T1(H5FI5
Q& M6MEIHLD [HITLG6T

. 48mLgeit <. 50 BILs6iT

Q. 54 B seT rF. 60 BIL&6iT

75. A can do a certain job in 12 days B is 60% more
efficient than A. How many days B alone take to do
the same job?
a. 7 days b. 8 days
c.7 %2 days d. 6 days

12 mprisefleo A eeoiueuj @ Geuemevemw

wysHomy. B eedtueuy Aevw el 60%
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Smenwwnesteu;  etesfles B seflums 165
Geusmevenril 6188 6me6vt HILS6iflev (igliLmy?

S)|. 7 BAL&6IT 3. 8 BL&G6NT
8. 7 V2 L &6l . 6 BITLgelT
76. HCF of x2-2xy + y?and x* — y*is
a.l b.x +y
C.X—-Yy d. x? - y?

X*-2xy +y* wimib x* = y* —6b1 15.QLIM.6u eTebTLIG)

a.l b.x +y
C.X—-Yy d. x? - y?
77. Simplify : 123+133-25°

a. -11700 b. 11700
c. 1170 d. -1170

&(H&GS: 123+13%-25°

a. -11700 b. 11700

c. 1170 d. -1170

78. 252 can be expressed as a product of primes as
b. 2 x2x2x3x7

d. 2 x3x3x3x 7

a. 2 X2X3x3xX7
C. 3X3X3X 3 X7
2525 eteueunm L& elevmseflest  QUEHESHEUNS
6T(LOS6VITLD

a.2 X2x3x3x7 b. 2 x2x2x3x7

€. 3x3x3x 3 X7 d. 2 x3x3x3x 7

79.If 10% of x is equal to 20% of y then find x 1y
a.3:2 b.1:2

c.2:1 d.3:1

X-60T UGG F&56i5Meu1s) Y-6i1 20%8(G FLoIb eTevflev X
:ystt wéllienl sevor(hLiliy

a.3:2 b.1:2
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c.2:1 d.3:1
80. 72% of 25 students are good in Mathematics.
How many are not good in Mathematics?

a. 18 b.7

c.16 d. 12

25 nesteufserfles 72% Gui  SewflsliumLgHlev
SHmenownesteujgsem  etevfllev  Hevuflpl  LMLSHev
SHmenwmmeuser 61&5enest GLI?

a.18 b.7

c.16 d.12

81. 2019 GsHlw aWw AH&Fens wnpN([H (National
Cardiology Conference) men QUM H&HMD 618)?

[A] ev&Bsotm [B] yg) QLevel
[C] e [D] G &etremr68T

Which city is the venue of the National Cardiology
Conference 2019?

[A] Lucknow [B] New Delhi

[C] Mumbai [D] Chennai

82. Uetteupd embs HLIgev 2 6vdletT (PsHev 5G
SiemeuCudl FISLSEv M (WPSUILESSLILLLE)?

[A] Qgett Qamflwim [B] w@svdlwum

[C] @1Qwf&sT
The world's first 5G phone has recently released in
which of the following countries?

[A] South Korea [B] Malaysia

[C] United States [D] Denmark

83. LIC eo1 uflsns HludssoulL BHljeuns

[D] QLebTONTS

Qs GBI wj?

[A] Blegnbs LGL6v

[B] efliletT 460758 LomesuT@L
[C] sufepm epijiom

[D] uesfs Qeguilest
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Who is the newly appointed Managing Director of
LIC?

[A] Nishant Patil

[B] Vipin Anand Monday

[C] Varsha Sharma

[D] Puneet Jain

84. 56 eugy Gas&w sL6v Hevnd (National Maritime
Day NMD-2019) @et1 &(HLIQUIT(H6IT 6T65T60T?

[A] @BHWw QUEBAISLE | LTSNS QLI(HasL6o
[B] @b&Hw QupraisLen : SLeveulfl eumiiLiL

[C] @b QuepmksLey : Bieump 2 ullflesmassi
LIMGI&MLIL

[D] @bHw QuEBBIBLEL : S&GWTeT B, &HHSOMes
AUMPESENS

What is the theme of the 56th National Maritime
Day (NMD-2019)?

[A] Indian Ocean-Safe Ocean

[B] Indian Ocean-An Ocean of opportunity

[C] Indian Ocean-Save Aquatic Animals

[D] Indian Ocean-Clean Water, Clean Life

85. @nevotLneug; Micro Missions of National Police
Mission (NPM) Csw wnpnp BLbs QLI 6187

[A] uGeot [B] smamgymunsg

[C] Quaisees [D] Hlwy, GLeved)

Which city is the venue of the 2nd National
Conference of Micro Missions of National Police
Mission(NPM)?
[A] Pune

[C] Bangaluru

[B] Hyderabad
[D] New Delhi
86. Rashtriya Kamdhenu Aayog (RKA] eism&ns

AenW&SUILGEIMS?

[A] ussEEnsT GLETDISH6EV

[B] uasaet Lnglsmiy

[C] wrBasT smeveuLlTL

[D] G 68T Si606TTHGID

The Rashtriya Kamdhenu Aayog (RKA) would be
setupfor___?

[A] Conservation of Cows
[B] Protection of Cows
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[C] Progeny of Cows
[D] All of the above

87. 462 ez sHEMA SHmellpn 2019 6T
wnflevslev QismesorLm_LiLLLg)?

[Al &51pBn(6
[C] Gserm
The 462nd Kandoori festival 2019 has celebrated in
which of the following states?

[A] Tamil Nadu [B] Andhra Pradesh

[C] Kerala [D] Karnataka

88. 9ps Gauemevseflev ‘Gunupemnzny FHwns

[B] @ppHi NyGs&d
[D] &imrLs

WNetrpraflw’ 2wij snfHluflesihé@ 56060 5015
@51580 s LHEHW JEMDFFTERN QLILIFHED

Sieflg gleiengy?
[A] 5% [B] 10%
[C] 6% [D] 15%

The Union Cabinet has recently approved a
reservation at what percentage for ‘economically
backward’ upper castes in government jobs?

[A] 5% [B] 10%

[C] 6% [D] 15%

89. emby mlgest ewfl, 2019 GCammliCGwesr
Camuenus snest ULL S0 GleustTm)6ieng)?

[A] Qegiwoesfl [B] sef&&ijeonbg

[C] Ngresterv [D] @ridlevmbg

Which country's team has clinched the 2019
Hopman Cup title?

[A] Germany [B] Switzerland

[C] France [D] England

90. pmbmns Camumst Qsulwey  HAmuy
aflpgisefley, Yeverrmile) usflsenswnemy (Di&8
gam_s1d) Lilfleflev afl(hg) Qeusttmeury winmg?
[A] #pH W pellgmhigy
[B] opsv1rh 5 (SHLomy LGL6Y

[C] S eflegu (gLomry

[D] &g (gLomy Al
Who is the recipient of the Ramnath Goenka
Excellence in Journalism Award for Investigative
Reporting (Print category)?
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[A] Sandhya Ravishankar

[B] Anand Kumar Patel

[C] S Vijay Kumar

[D] Shusant Kumar Singh

91. oyis Qruils Coemeuenw ievsTemiouilev

QanLiSwW B 615)?
[A] @neipwim [B] Qggijioent]
[C] Ngretta [D] 288w SiQ@wflésm

Which country has recently launched Arctic train
service?

[A] Russia [C] Germany

[B] France [D]US

92. oemenns QawHsefles  @LbGUMHMI6TET
&5Cam  uetengensE, Uetteu@mw QidHlwneallsst

abs LS whlevsHev SienomHg)eiTeng)?
[A] @15mb [B] &'B&miyd

[C] BrssmevmB g, [D] =1 (mesormgeol i f@a &

Dzukou Valley, which is in news recently, is
located in which of the following North-East states
of India?

[A] Assam [B] Mizoram

[C] Nagaland [D] Arunachal Pradesh

93. @nHwumallpsns Hsuls Cumliysefley
eflenemumgu]siten smevLibgl ey wmj?

[A] BBy sumebBLIGsyIeuT

[B] sesflev Gaaifl

[C] e5@s6ip eflmbigest

[D] @umiflest &

Who of the following players has become the
India’s highest capped footballer?

[A] Robin Singh

[B] Sunil Chhetri

[C] Sandesh Jhingan

[D] Jeje Lalpekhlua

94. dssms greus, eHs  eflememun(BLesT
Qs MLjLenLweur?

[A] GLLleiT @ LetTestlery

[B] QLetrssfler0
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[C] srsvLIBE)

[D] w18\ essTL685T

Sidharth Rawat is associated to which sports?

[A] Football [B] Tennis

[C] Table Tennis [D] Badminton

95. National Centre for Good Governance (NCGG)
65T HEM6VEMOWSLD 6TRICS 2 6iTeng)|?

[A] New Delhi [B] Pune

[C] Chennai [D] Dehradun

Where is the headquarters of National Centre for
Good Governance (NCGG)?

[A] New Delhi [B] Pune

[C] Chennai [D] Dehradun

96. 2 evute) WHMID CeuenmessTenio SievLiLilest (FAO)
Hemevauns @bHlwimeurev Hludls s Leur wim?
[A] Nandini Harinath

[B] Ritu Karidhal

[C] Trilochan Mohapatra

[D] Ramesh Chand

Who has been nominated by India to head Food
and Agriculture Organisation (FAO)?

[A] Nandini Harinath

[B] Ritu Karidhal

[C] Trilochan Mohapatra

[D] Ramesh Chand

97. PM-STIAC & esgemen ifleflwed wmmib
QazmglevmIL uessflgei
SnesoTLILIL (b 6iTermenT?

[A]9 [B]8 [C]7 |[D]5
How many science and technology missions have
been identified under PM-STIAC?

[A]9 [B]8 [C]7 [D]5

98. TePe Sigeman & Co &jeuGse GunLly, emhs

S{60ILLLITEILD

aflenemun (L6t QFMLjLemLWwg)?
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[A] ego@Lr [B] @QLstresfl610
[C] B&&ev
The TePe Sigeman & Co International tournament
is associated to which of the following sports?

[D] sginmisLd

[A] Judo [B] Tennis
[C] Swimming [D] Chess
99. 2019 RN SevflbLiy eV(GeUeap

gmbilwestafllifley, GuessBeT LLLSms Ceussim
@ndHw evGeuneyp aignmisemest wmy?

[A] s1651G6uapT QL le

[B] BzLNam Lisveilgen &Mj&Hs

[C] Gegrmervent SesTevTLILIT

[D] flepn HGrsusy

Which Indian squash player has won the women's
title at the 2019 Asian Individual Squash
Championship?

[A] Anwesha Reddy

[B] Dipika Pallikal Karthik

[C] Joshna Chinappa
[D] Misha Grewal

100. 2H5s usnetngey, LWESE W& HHES
eueyeitemr 99942 oiGumileiv etetTm WSLIGLIFlW
GnIEGsnenet ubnl Qzflellsgieren aflesorGeuerfl

Sp\ey Hlimieuetd e18)?
[A] NASA [B] Gymerv@smiomerv
[C] JAXA [D] CNES

Which space agency has revealed that giant
asteroid 99942 Apophis is expected to fly close to
Earth in a decade?
A]NASA
C] JAXA

B] Roscosmos
D] CNES
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Group 4 VAO General Studies Model Test 8 — Answer Key

1) A |21 | B |4) | c [e6) | B |8) | A
2) B | 22| B |42 | D |62 | Cc | 8) | A
3) | D [23) | B [43 | B |63 | B | 83) | B
4 | B |24 | A |49 | A |64 | D |81 | B
5) c | 25) | B |45 | c |65 | Cc | 8) | D
6) | D | 26) | D | 46) | D | 66) | B | 8) | D
7) c |[2n | A [an | A [e6n | B |87 | A
8) D | 28) | A |48 | D [ 68 | A | 8 | B
9) B | 29) | ¢ |49 | c [ 69 | A [ 89) | B
100 | B [30) | B |50 | B |7)]| B |90 | C
1) | ¢ [3) | B [5) | A | 7) | B [9) | A
12) | A |32 | c |52 B [72] D |9 | c
13) | ¢ |33 | c [53| c [73] B |93 | B
14 | A [ 34 | B [ 59| D [ 79| D |94 | B
155 | D | 3) | D [5) | ¢ |75 ] c |9 | A
16) | ¢ [3) | c [ 5) | c | 7| c |9) | D
17 | B |3 | A |50 | A | ™| A |97 | A
18) | A |38 | c [ 58 | A |79 ] A |9 | D
199 | D [ 3) | B [ 59 | B [79 ] c [99 | c
200 | C |40 | ¢ [ 60) | D [ 80) | B [100)| A
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